8. A CE amplifier with transistor parameters 3 = 200, Vgg = 0.7V is shown in figure 4
a) Calculate the lower cut-off frequency of the circuit
b) Calculate the mid-band voltage gain in dB

¢) Plot the frequency response of the circuit

Vecec = +10V
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Figure 4: Question 8

Answers: Ipg = 13.58puA  Icg = 2.72mA  r; = 1.91kQ g, = 104.61mA/V
freor = L.LT6Hz2  froco = 11.28THz  fr = 11.28THz Avap = 15.19dB
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9. A amplifier with transistor parameters 3 = 100, Vgg = 0.7V is shown in figure 5 [10]
a) Calculate the lower cut-off frequency of the circuit

b) Calculate the mid-band voltage gain in dB

Vee= +20V
sna RC
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Figure 5: Question 9

Answers: Igg =34.91uA  Icg =3.49mA  rp =T744.98Q g, = 134.23mA/V
freer = 127.95Hz  frocs = 206THz  frop = 1909.99Hz  f, = 1909.99H >
Avyrp = 43.34dB
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